In which quadrant or on which axis does
the terminal angle of each angle lie?
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1. Are 730° and 3990 ° coterminal?
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Since 3990 is not an integer
multiple away 730 they are N O
not coterminal.



Use the relationships in the special right triangles to find the EXACT value of x and y.

The Short leg equals half

1 ) the Hypotenuse. 1 _L ri ‘C_{
00 The Long Leg equals the z
X Short Leg times square 45°
( r I} root of 3. X = Q A leg equals the hypotenuse divided by
—L A5 = 2 = square root of 2. The legs are equal.
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1 . Find the exact valtie of each:
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Find the &/act value of each:

2 2
1. Sin45°="3 2. Cos45°:’%'

3. Tan45° — (

The unit circle is used to find thevalue

for Sin6 and Cos6 using the special right triangles.

So all the angles on the unit circle are related
to either 30°, 60°, or 45°

'The Unit Circle: |

A circle whose center is at the origin and has radius = 1.
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fill in all the angles in degrees




